o(d x) (um) for PV

Ratio
Pk
L N o

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

=
o
W

10°E

s

©

[
NS

o

! ;

a .

| .

=

o

1

an

0 5 10 15 20
Vertex z (cm)

o0 X) (um)

Ratio

=
o
w

10°E

Vertex z (cm)

o(d x) for merged vertices (um)

Ratio

=
o
w

10°F

1.4

1.05

[y
AR LU L LA

0.95 : . . ] ]
S5 =to -5 0 & 101520
Vertex z (cm)

B V_original_stepZ_ttbar-
DéM plerCPETempIateCut hiSquareNew_step?2 ttbar-phasel-newgeom

hasel-newgeom
pixel CPETemplate_step?2 ttbar-phasel-newgeom

10°E

12

o

0.8]
0.6|

;
06101520

|
N
=]
! :
JLN AR
ol .
|
=)
[

-5

10°

10%[

5 0 5 10 15 20

Vertex z (cm)

6(0y) (um)

Ratio

0(0 2) (um)

Ratio

10%k::

10 15 20

Vertex z (cm)

=
o
W

10?

J....I....I....I....I....I....I....I....

.::50.1\,.. .....
10 15 20

Vertex z (cm)

o(d y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

=
o
w

10%E

50 5 10 15 20

Vertex z (cm)



	Contents
	Page 1


